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1  Answer all questions and write your answers in the boxes provided.

3 5]
1) et =z = e/

STV andy=———
36 3+

3—v5

. Calculate «®+ ?.

2) Solve the equation z* + 5% + 8z +6 = 0.

3) Solve the equation 3***!+2.37 —1=0.

4) Solve the equation cos®z —sinzcosz =1 (0 < = < 2m).
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5) Solve the inequality 2? — 4z +2 < 0.

6) Solve the inequality (log,z)* — 2logyz® +2 < 0.

7) Let a= (21 =—3); b= (1, 0, —2) and ¢ = a+ th. Find the value of the
constant ¢ which satisfies ¢ L a.

8) Calculate the area of the triangle OAB with vertices O(0, 0, 0), A(3, 1, 4),
B(—1, 4, 3).
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9) A sequence {a,} satisfies the following conditions. Calculate lim a,,.

Nn—00
2 1
a; =3, mn+1='§ﬂ'n+1 (=2 2.3, sl

10) Calculate lim (v2* +3z +1—a).

11) Find the value of the constant k for which the line y = 2z +1 is a tangent
to the curve y = x* + ka + 3.
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write your answers in the boxes provided.

2 it = ( {1} [1] ) and O = ( Sl ) Answer the following questions and

1) Lgt A= ( ; i ) and B = ( g ; ) Find the values of @ and b which

satisfy AB = O.

Cii—

2) Let A = (é g) and B = (g é) Find the matrix X satisfying
AX = B.

)(:

3) Let A = ( i ::E; ) satisfying A2 + A — 6/ = O and a+d > 0. Find the

values of a+d and ad— be.

a+d=

atd — be = J




3 Answer all questions and write your answers in the boxes provided.

T

1) Calculate f sin® ¢ dt.

]

2) Calculate / tsin® ¢ dt.
0

3) Find the function f(x) which satisfies f(z) =z + é f f(t)sin® £ dt.
il {}




